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PLI Count Calculation
Shang Zheng, Peng Yan
Huawei Technologies Co. Ltd

1. Introduction
When there is no frame number offset between the MR-BS and each subordinate RSs. The PLI count calculation is shown below. 
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Considering the frame number offset, the PLI count calculation is shown below.  
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2. Proposed Text Changes

---------------------------------------------------------Start of the Text----------------------------------------------

[Adopt the following text modification to the P802.16j Draft document]
Modify the Section 6.3.2.3.56 (Table 174) in page 30 Line 16 (Notes) as indicated
The number that PLI has been elapsed since the first time MR-BS sending out the MOB_PAGADV message

Number of the PLI of its superordinate station has been elapsed at the current receiving time 

Modify the Section 6.3.2.3.56 (Table 174) in page 30 Line 35 as indicated
This field indicates the number MOB_PAG-ADV messages have already been sent over the access link during the current PLI. This field is used for indicating the RS how many PLI of its superordinate station has been elapsed. The RS will determine its own paging retry count according to the “PLI Count” and the “Paging Retry Count” of MR-BS. When a RS relay the MOB_PAGADV message to its subordinate RSs, the “PLI Count” value shall be increased by one if the receiving RS will miss one more MOB_PAG-ADV message transmission over the access link there is one PLI has been elapsed at the current sending time. 

Modify the Section 6.3.24.6.1 in Page 144 Line 27 as indicated 

Replace the fifth paragraph of the section 6.3.24.6.1 in Page 144 Line 21 as indicated 
In order to let MR-BS wait reasonable time for paging response, each RS’s shall calculate a paging retry count which is decreased to zero at the closest PLI with its superordinate station, a “PLI Count” indication field may be included in the MOB_PAG-ADV message transmitted in the relay link, which is described in 6.3.2.3.56. This field is used for indicating the subordinate RS how many PLI of its superordinate station has been elapsed. The RS will determine its own paging retry count according to the “PLI Count” and the “Paging Retry Count” of MR-BS defined in Table 342.
When a RS relay the MOB_PAG-ADV message to its subordinate RSs, the “PLI Count” value may shall be increased by one if the receiving RS will miss one more MOB_PAG-ADV message transmission over the access link there is one PLI has been elapsed at the current sending time.

Replace the following text in the whole draft document

 “This field is used for indicating the RS how many MOB_PAG-ADV messages have already been sent over the access link during the current PLI.” 

To:

 “This field is used for indicating the RS how many PLI of its superordinate station has been elapsed”

---------------------------------------------------------End of the Text-----------------------------------------------
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